JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value	Trade Type	Buy/ Sell
8:04:03	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9805		324,512.50	Member	Buy
8:04:04	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.0105		455,367.50		Buy
8:04:05	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0205		(325,512.50)		Sell
8:04:05	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0205		325,512.50	Member	Buy
8:04:06	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0592		(1,305,920.00)	Member	Sell
8:04:06	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0592		1,305,920.00	Client	Buy
8:04:08	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.0627		522,508.00	Client	Buy
8:04:08	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.0627		(522,508.00)	Member	Sell
8:04:09	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.0677		653,385.00	Client	Buy
8:04:09	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.0677		(653,385.00)	Member	Sell
8:04:10	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	425	425,000	13.0405		5,542,212.50	Member	Buy
8:21:47	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.0002		(455,007.00)	Member	Sell
8:21:47	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.0002		455,007.00	Client	Buy
8:50:17	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.9343		6,467,150.00	Client	Buy
8:50:17	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.9343		(6,467,150.00)	Member	Sell
8:54:55	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	1,250	1,250,000	12.9859		16,232,375.00	Member	Buy
8:54:56	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	1,250	1,250,000	12.9859		(16,232,375.00)	Client	Sell
9:00:59	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	40	40,000	12.9905		519,620.00	Member	Buy

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 28/02/2017

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
0.00.50	¢ / D 12/02/2017	Foreign Evolution Future	0.00	1	1 000	400	400.000	12 0255		(5.214.200.00) Client	Sall
9:00:59	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	400	400,000	13.0355		(5,214,200.00) Client	Sell
9:02:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0141		1,301,410.00 Client	Buy
9:02:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0141		(1,301,410.00) Member	Sell
9:04:11	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4487		336,217.50 Member	Buy
9:04:11	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.4487		(336,217.50) Client	Sell
9:06:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0100		(65,050.00) Client	Sell
9:06:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0100		65,050.00 Member	Buy
9:08:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0119		13,011.90 Member	Buy
9:08:29	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2465		(66,232.50) Member	Sell
9:08:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0120		(1,301,200.00) Client	Sell
9:08:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0095		(1,300,950.00) Client	Sell
9:08:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0095		1,300,950.00 Member	Buy
9:08:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0120		1,301,200.00 Member	Buy
9:09:36	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0178		(65,089.00) Client	Sell
9:09:36	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0178		65,089.00 Member	Buy
9:09:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.2465		66,232.50 Client	Buy
9:09:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0204		1,302,040.00 Member	Buy
9:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	28	28,000	13.0206		364,576.80 Member	Buy
9:10:25	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.0189		325,472.50 Member	Buy
9:10:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0189		130,189.00 Member	Buy
9:10:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0189		(130,189.00) Client	Sell
9:10:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0189		13,018.90 Member	Buy
9:10:50	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0225		195,337.50 Member	Buy
9:14:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.0200		(325,500.00) Client	Sell
9:14:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.0200		325,500.00 Member	Buy
9:16:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.0560		32,640,000.00 Member	Buy
9:16:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.0560		(32,640,000.00) Client	Sell
9:17:09	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,000	5,000	13.0172		65,086.00 Member	Buy
9:17:30	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0172		130,172.00 Member	Buy
9:17:30	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0172		(130,172.00) Client	Sell
9:21:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	1,000	13.0189		13,018.90 Member	
				1		-				,	Buy
9:23:23	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2398		(6,619,900.00) Member	Sell
9:23:23	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2398		6,619,900.00 Member	Buy
9:23:38	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	317	317,000	13.0150		4,125,755.00 Member	Buy
9:23:38	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	317	317,000	13.0150		(4,125,755.00) Client	Sell
9:23:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	408	408,000	13.0150		(5,310,120.00) Client	Sell
9:23:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	408	408,000	13.0150		5,310,120.00 Member	Buy
9:24:16	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	593	593,000	13.0217		(7,721,868.10) Member	Sell
9:36:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0250		130,250.00 Member	Buy
9:36:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.0300		(39,090.00) Client	Sell
9:36:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.0300		39,090.00 Member	Buy
9:38:17	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0425		260,850.00 Client	Buy
9:39:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.0483		(913,381.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	nuuco	Value		Nonina	11100	Nute	1360	
9:39:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.0483		913,381.00 Client	Buy
9:45:20	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0440		(65,220.00) Member	Sell
9:45:20	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0440		65,220.00 Client	Buy
9:45:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0400		13,040.00 Client	Buy
9:45:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0400		(13,040.00) Client	Sell
9:48:09	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2541		662,705.00 Member	Buy
9:48:09	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2541		(662,705.00) Client	Sell
9:48:38	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0399		(26,079.80) Client	Sell
9:48:45	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	27	27,000	13.0400		(352,080.00) Member	Sell
9:48:45	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.0397		391,191.00 Client	Buy
9:50:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.0375		3,911,250.00 Member	Buy
9:50:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.0375		(3,911,250.00) Member	Sell
9:50:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.0317		2,606,340.00 Member	Buy
9:50:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.0317		(2,606,340.00) Client	Sell
9:57:41	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0442		1,304,420.00 Client	Buy
9:57:41	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0442		(1,304,420.00) Member	Sell
9:59:41	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	7	7,000	13.0418		(91,292.60) Member	Sell
10:03:29	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0326		(1,303,260.00) Client	Sell
10:03:29	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0326		1,303,260.00 Member	Buy
10:04:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.0425		(13,042,500.00) Member	Sell
10:04:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.0425		13,042,500.00 Client	Buy
10:07:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	266	266,000	13.0412		(3,468,959.20) Member	Sell
10:07:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	266	266,000	13.0412		3,468,959.20 Member	Buy
10:08:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	66	66,000	13.0400		(860,640.00) Member	Sell
10:08:37	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	66	66,000	13.4770		889,482.00 Member	Buy
10:08:37	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	66	66,000	13.4770		(889,482.00) Client	Sell
10:08:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	66	66,000	13.0400		860,640.00 Client	Buy
10:15:14	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	25	25,000	13.0500		326,250.00 Member	Buy
10:17:32	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0453		3,261,325.00 Member	Buy
10:17:32	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0453		(3,261,325.00) Member	Sell
10:18:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	7	7,000	13.4720		94,304.00 Member	Buy
10:18:08	\$ / R 18/09/2017	Foreign Exchange Future	0.00		1,000	7	7,000	13.4720		(94,304.00) Client	Sell
10:19:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.2806		3,320,150.00 Member	Buy
10:19:39	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.2806		(3,320,150.00) Member	Sell
10:21:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0574		(3,264,350.00) Member	Sell
10:22:26	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0570		(3,264,250.00) Member	Sell
10:22:26	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0570		3,264,250.00 Member	Buy
10:25:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	25	25,000	13.1074		(327,685.00) Member	Sell
10:25:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	250	250,000	13.0624		3,265,600.00 Client	Buy
10:27:14	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	6	6,000	13.2781		(79,668.60) Member	Sell
10:27:14	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	6	6,000	13.2781		79,668.60 Client	Buy
10:27:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	100	100,000	13.0420		(1,304,200.00) Client	Sell
10.21.70	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	100	100,000	13.0420		1,304,200.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	nuuco	Value		Nominal	11100	Nuto	1360	
10:31:25	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0499		(3,262,475.00) Member	Sell
10:31:25	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0499		3,262,475.00 Member	Buy
10:32:12	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0523		65,261.50 Client	Buy
10:32:12	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0523		(65,261.50) Member	Sell
10:32:25	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0172		(65,086.00) Client	Sell
10:38:55	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0376		13,037.60 Member	Buy
10:42:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.2600		3,315,000.00 Member	Buy
10:42:28	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.2600		(3,315,000.00) Member	Sell
10:45:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2547		6,627,350.00 Member	Buy
10:45:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2547		(6,627,350.00) Member	Sell
10:45:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	593	593,000	13.0217		7,721,868.10 Client	Buy
10:47:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0238		1,302,380.00 Member	Buy
10:47:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0238		(1,302,380.00) Client	Sell
10:47:23	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0325		(3,258,125.00) Member	Sell
10:47:23	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0325		3,258,125.00 Member	Buy
0:52:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.2500		3,312,500.00 Member	Buy
0:52:46	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.2500		(3,312,500.00) Member	Sell
0:55:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0246		195,369.00 Client	Buy
0:55:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0246		(195,369.00) Member	Sell
0:56:18	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	417	417,000	13.0300		(5,433,510.00) Member	Sell
0:57:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0239		(260,478.00) Member	Sell
0:57:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0239		260,478.00 Client	Buy
1:00:24	\$ / R 31/03/2017	Any day expiry	0.00	1	1,000	730	730,000	13.0905		(9,556,065.00) Member	Sell
1:06:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0101		1,301,010.00 Member	Buy
1:06:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0638		(6,531,900.00) Client	Sell
1:08:59	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	1	1,000	13.0121		13,012.10 Member	Buy
1:08:59	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0121		(13,012.10) Client	Sell
1:12:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	100	100,000	13.0100		(1,301,000.00) Member	Sell
1:14:28	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	10	10,000	12.9975		129,975.00 Client	Buy
1:14:28	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	10	10,000	12.9975		(129,975.00) Client	Sell
1:15:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	90	90,000	12.9975		1,169,775.00 Member	Buy
1:15:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	90	90,000	12.9975		(1,169,775.00) Client	Sell
1:15:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2311		6,615,550.00 Member	Buy
1:15:49	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	500	500,000	13.2311		(6,615,550.00) Member	Sell
1:18:25	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	50	50,000	12.9956		649,780.00 Member	Buy
1:19:43	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	50	50,000	12.9956		(649,780.00) Client	Sell
1:29:32	\$ / R 19/06/2017	Foreign Exchange Future	0.00		1,000	600	600,000	13.2228		7,933,680.00 Member	Buy
1:30:50	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	7	7,000	12.9994		(90,995.80) Client	Sell
1:30:50	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	7	7,000	12.9994		90,995.80 Member	Buy
1:34:42	\$ / R 31/03/2017	Any day expiry	0.00		1,000	1,176	1,176,000	13.0440		(15,339,744.00) Member	Sell
1:34:42	\$ / R 31/03/2017	Any day expiry	0.00		1,000	1,270	1,270,000	13.0440		(16,565,880.00) Member	Sell
11:35:55	\$ / R 31/07/2017	Any day expiry	0.00		1,000	2,274	2,274,000	13.3264		(30,304,233.60) Member	Sell
11:45:40	\$ / R 31/03/2017	Any day expiry	0.00		1,000	730	730,000	13.0905		9,556,065.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	ITades	Value		Nomman	11100	Nate	Туре	
11:46:46	\$ / R 31/03/2017	Any day expiry	0.00) 1	1,000	1,270	1,270,000	13.0440		16,565,880.00 Client	Buy
11:57:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00) 1	1,000	400	400,000	13.2228		(5,289,120.00) Client	Sell
11:57:38	\$ / R 19/06/2017	Foreign Exchange Future	0.00) 1	1,000	200	200,000	13.2228		(2,644,560.00) Client	Sell
11:57:55	\$ / R 19/06/2017	Foreign Exchange Future	0.00) 1	1,000	500	500,000	13.2454		(6,622,700.00) Member	Sell
11:57:55	\$ / R 19/06/2017	Foreign Exchange Future	0.00) 1	1,000	500	500,000	13.2454		6,622,700.00 Member	Buy
11:58:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	150	150,000	13.0210		1,953,150.00 Client	Buy
11:58:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	150	150,000	13.0210		(1,953,150.00) Member	Sell
1:58:57	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	500	500,000	13.0210		6,510,500.00 Client	Buy
1:58:57	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	500	500,000	13.0210		(6,510,500.00) Member	Sell
1:59:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	85	85,000	13.0210		(1,106,785.00) Member	Sell
1:59:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	85	85,000	13.0210		1,106,785.00 Client	Buy
2:02:38	\$ / R 31/03/2017	Any day expiry	0.00) 1	1,000	1,176	1,176,000	13.0440		15,339,744.00 Client	Buy
2:08:29	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	250	250,000	13.0247		(3,256,175.00) Member	Sell
2:15:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	1	1,000	13.0300		13,030.00 Member	Buy
2:15:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	1	1,000	13.0300		(13,030.00) Client	Sell
2:16:45	\$ / R 28/02/2017	Any day expiry	0.00) 1	1,000	188	188,000	13.0000		(2,444,000.00) Member	Sell
2:16:45	\$ / R 28/02/2017	Any day expiry	0.00) 1	1,000	532	532,000	13.0000		(6,916,000.00) Member	Sell
2:16:45	\$ / R 31/03/2017	Any day expiry	0.00) 1	1,000	532	532,000	13.0740		6,955,368.00 Member	Buy
2:21:40	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	188	188,000	13.0290		(2,449,452.00) Client	Sell
2:21:40	\$ / R 13/03/2017	Foreign Exchange Future	0.00) 1	1,000	188	188,000	13.0290		2,449,452.00 Member	Buy
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	920	920,000	13.0290		(11,986,680.00) Client	Sell
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	116	116,000	13.0295		1,511,422.00 Client	Buy
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	503	503,000	13.0290		(6,553,587.00) Client	Sell
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	116	116,000	13.0295		(1,511,422.00) Member	Sell
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	503	503,000	13.0290		6,553,587.00 Member	Buy
2:22:37	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	920	920,000	13.0290		11,986,680.00 Member	Buy
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	920	920,000	13.0000		(11,960,000.00) Member	Sell
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	1,905	1,905,000	13.0000		(24,765,000.00) Member	Sell
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	116	116,000	13.0000		1,508,000.00 Member	Buy
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	503	503,000	13.0000		(6,539,000.00) Member	Sell
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	1,230	1,230,000	13.0000		(15,990,000.00) Member	Sell
2:22:37	\$ / R 28/02/2017	Any day expiry	0.00		1,000	3,360	3,360,000	13.0000		43,680,000.00 Member	Buy
2:22:37	\$ / R 31/03/2017	Any day expiry	0.00		1,000	1,230	1,230,000	13.0740		16,081,020.00 Member	Buy
2:22:37	\$ / R 31/03/2017	Any day expiry	0.00		1,000	1,905	1,905,000	13.0740		24,905,970.00 Member	Buy
2:22:07	\$ / R 28/02/2017	Any day expiry	0.00		1,000	188	188,000	13.0000		2,444,000.00 Client	Buy
2:23:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.0172		65,086.00 Member	Buy
2:23:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000	5	5,000	13.0172		(65,086.00) Client	Sell
2:24:02	\$ / R 31/03/2017	Any day expiry	0.00		1,000	532	532,000	13.0740		(6,955,368.00) Client	Sell
2:24:02	\$ / R 28/02/2017	Any day expiry	0.00		1,000	503	503,000	13.0000		6,539,000.00 Client	Buy
2:33:27	\$ / R 31/03/2017		0.00		1,000	1,230	1,230,000	13.0000		(16,081,020.00) Client	Sell
	\$ / R 28/02/2017	Any day expiry				920	920,000	13.0740			
2:34:39		Any day expiry	0.00		1,000					11,960,000.00 Client	Buy
2:36:20	\$ / R 31/03/2017 \$ / R 31/03/2017	Any day expiry	0.00 0.00		1,000 1,000	1,905 765	1,905,000 765,000	13.0740 13.0755		(24,905,970.00) Client	Sell Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:36:41	\$ / R 31/03/2017	Any day expiry	0.00	1	1,000	3,360	3,360,000	13.0755		(43,933,680.00) Member	Sell
12:36:41	\$ / R 28/02/2017	Any day expiry	0.00	1	1,000	765	765,000	13.0000		9,945,000.00 Member	Buy
12:38:05	\$ / R 28/02/2017	Any day expiry	0.00	1	1,000	116	116,000	13.0000		(1,508,000.00) Client	Sell
12:39:07	\$ / R 31/03/2017	Any day expiry	0.00	1	1,000	3,360	3,360,000	13.0755		43,933,680.00 Client	Buy
12:40:36	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0169		1,301,690.00 Member	Buy
12:40:36	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0169		(1,301,690.00) Client	Sell
12:43:40	\$ / R 31/03/2017	Any day expiry	0.00	1	1,000	765	765,000	13.0755		10,002,757.50 Client	Buy
12:48:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	262	262,000	13.0300		3,413,860.00 Client	Buy
12:48:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	155	155,000	13.0300		2,019,650.00 Client	Buy
12:57:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0480		195,720.00 Member	Buy
12:57:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0500		130,500.00 Member	Buy
12:58:09	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0500		(130,500.00) Client	Sell
12:58:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0504		(3,262,600.00) Member	Sell
12:58:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0504		3,262,600.00 Member	
12:56:46	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250 15	15,000	13.0504		195,774.00 Member	Buy Buy
13:22:38	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0498		652,490.00 Member	Buy
13:22:38		Foreign Exchange Future	0.00	1		50					Sell
3:31:47	\$ / R 13/03/2017 \$ / R 19/06/2017		0.00	1	1,000 1,000	500	50,000 500,000	13.0498 13.2773		(652,490.00) Client 6,638,650.00 Member	
		Foreign Exchange Future								, ,	Buy
3:31:47	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	500 100	500,000	13.2773		(6,638,650.00) Member	Sell
3:32:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00		1,000		100,000	13.0562		1,305,620.00 Client	Buy
3:32:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0562		(1,305,620.00) Member	Sell
3:34:53	\$ / R 31/07/2017	Any day expiry	0.00	1	1,000	2,274	2,274,000	13.3264		30,304,233.60 Client	Buy
3:44:32	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0620		(13,062.00) Client	Sell
3:44:32	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0620		13,062.00 Member	Buy
3:45:24	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.0695		(980,212.50) Member	Sell
3:45:35	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.0613		(39,183.90) Client	Sell
3:45:35	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	13.0613		39,183.90 Member	Buy
3:45:56	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0696		(653,480.00) Member	Sell
4:00:27	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.0700		(52,280.00) Client	Sell
4:00:27	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	4	4,000	13.0700		52,280.00 Member	Buy
4:02:06	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.0600		326,500.00 Member	Buy
4:05:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	281	281,000	13.0693		3,672,473.30 Member	Buy
4:05:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	281	281,000	13.0693		(3,672,473.30) Member	Sell
4:05:14	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.0684		(9,801,300.00) Client	Sell
4:05:14	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.0684		9,801,300.00 Member	Buy
4:09:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0600		(13,060.00) Client	Sell
4:09:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0600		13,060.00 Member	Buy
4:10:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0630		(6,531,500.00) Member	Sell
14:10:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0630		6,531,500.00 Member	Buy
4:15:07	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0432		(652,160.00) Member	Sell
4:16:26	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0417		(1,304,170.00) Member	Sell
4:16:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0391		1,303,910.00 Member	Buy
14:16:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0391		(1,303,910.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:17:24	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0417		(1,304,170.00) Member	Sell
14:18:35	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0385		(130,385.00) Member	Sell
14:18:35	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0385		130,385.00 Client	Buy
14:19:51	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.2570		1,325,700.00 Member	Buy
14:19:51	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.2570		(1,325,700.00) Client	Sell
14:22:03	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0452		(1,304,520.00) Member	Sell
14:22:03	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0452		1,304,520.00 Member	Buy
14:37:52	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0598		652,990.00 Client	Buy
14:37:52	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0598		(652,990.00) Member	Sell
14:44:28	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0519		13,051.90 Member	Buy
14:49:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0583		(652,915.00) Member	Sell
14:51:47	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	122	122,000	13.0452		1,591,514.40 Member	Buy
14:54:57	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	70	70,000	13.0574		(914,018.00) Client	Sell
14:56:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2790		(663,950.00) Client	Sell
14:56:16	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2790		663,950.00 Member	Buy
15:03:36	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0540		(652,700.00) Member	Sell
15:07:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.0460		(652,300.00) Member	Sell
15:10:57	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	30	30,000	13.0398		(391,194.00) Member	Sell
15:18:13	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2725		663,625.00 Member	Buy
15:18:13	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2725		(663,625.00) Client	Sell
15:26:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0450		65,225.00 Member	Buy
15:26:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0450		(65,225.00) Client	Sell
15:28:31	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0401		26,080.20 Member	Buy
15:28:31	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0401		(26,080.20) Client	Sell
15:30:30	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0350		(260,700.00) Member	Sell
15:30:30	\$ / R 17/03/2017	Any day expiry	0.00	1	1,000	506	506,000	13.0597		6,608,208.20 Member	Buy
15:30:56	\$ / R 19/06/2017		0.00	1	1,000	200	200,000	13.2464		2,649,280.00 Member	-
15:30:56	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.2464		(2,649,280.00) Member	Buy Sell
		Foreign Exchange Future		1		200					
15:31:20	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.2431		2,648,620.00 Member	Buy
15:31:20	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000		200,000	13.2431		(2,648,620.00) Member	Sell
15:31:42	\$ / R 13/03/2017	Foreign Exchange Future	0.00	•	1,000	1,053	1,053,000	13.0454		13,736,806.20 Member	Buy
15:31:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0200		260,400.00 Client	Buy
15:31:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0200		(260,400.00) Client	Sell
15:32:29	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.2500		2,650,000.00 Member	Buy
15:32:29	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.2500		(2,650,000.00) Member	Sell
15:34:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0135		195,202.50 Client	Buy
15:34:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.0135		(195,202.50) Member	Sell
15:37:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0297		(3,257,425.00) Member	Sell
15:37:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0297		3,257,425.00 Client	Buy
15:50:05	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2740		(663,700.00) Client	Sell
15:50:05	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2740		663,700.00 Member	Buy
15:50:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2767		663,835.00 Member	Buy
15:50:08	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2767		(663,835.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			i ut	Inddeb	Value		Nonina	11100	Nuto	1360	
15:51:12	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.0170		(13,017,000.00) Member	Sell
15:51:12	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	13.0170		13,017,000.00 Client	Buy
15:56:57	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,053	1,053,000	13.0454		(13,736,806.20) Client	Sell
15:57:15	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0370		(260,740.00) Member	Sell
15:57:16	\$ / R 17/03/2017	Any day expiry	0.00	1	1,000	506	506,000	13.0597		(6,608,208.20) Client	Sell
15:59:02	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0437		(26,087.40) Member	Sell
15:59:02	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0437		26,087.40 Client	Buy
16:08:02	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0395		13,039.50 Member	Buy
16:10:05	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.2725		(995,437.50) Client	Sell
16:10:05	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.2725		995,437.50 Member	Buy
16:10:42	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0467		13,046.70 Member	Buy
16:13:15	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	11,680	11,680,000	13.0342		152,239,456.00 Member	Buy
16:14:31	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2750		(663,750.00) Client	Sell
16:14:31	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	13.2750		663,750.00 Member	Buy
16:14:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0526		26,105.20 Member	Buy
16:14:51	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	13.0526		(26,105.20) Client	Sell
16:15:12	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0531		13,053.10 Member	Buy
16:16:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0595		(6,529,750.00) Member	Sell
16:16:00	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0595		6,529,750.00 Client	Buy
16:16:52	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.2756		(995,670.00) Member	Sell
16:16:52	\$ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.2756		995,670.00 Member	Buy
16:17:01	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	13.0530		13,053.00 Member	Buy
16:17:01	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0359		(130,359.00) Client	Sell
16:20:44	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	20	20,000	13.0700		(261,400.00) Member	Sell
16:22:19	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0642		6,532,100.00 Member	Buy
16:22:19	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0642		(6,532,100.00) Client	Sell
16:23:31	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0620		(130,620.00) Client	Sell
16:23:31	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	225	225,000	13.0601		2,938,522.50 Member	Buy
16:23:31	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	225	225,000	13.0601		(2,938,522.50) Client	Sell
16:26:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0538		130,538.00 Member	Buy
16:26:34	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0538		(130,538.00) Client	Sell
16:31:16	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0569		(130,569.00) Client	Sell
16:31:16	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0569		130,569.00 Member	Buy
16:31:54	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0660		(65,330.00) Client	Sell
16:31:54	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0660		65,330.00 Member	Buy
16:33:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	320	320,000	13.0595		4,179,040.00 Client	Buy
16:33:49	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	320	320,000	13.0595		(4,179,040.00) Member	Sell
16:37:50	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	484	484,000	13.0692		6,325,492.80 Member	Buy
16:37:50	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	484	484,000	13.0692		(6,325,492.80) Member	Sell
16:39:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0700		(130,700.00) Client	Sell
16:39:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0700		130,700.00 Member	Buy
16:39:04	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	150	150,000	13.0700		1,960,500.00 Member	Buy
16:40:09	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	35	35,000	13.0785		(457,747.50) Client	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Time			Ful		Traues	value		Nominal	FIICe	Nale	Туре	Jeli
16:40:09	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	35	35,000	13.0785		457,747.50 Member	Buy
16:40:13	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.0800		13,080.00 Member	Buy
16:40:13	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.0800		(13,080.00) Client	Sell
16:40:13	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.0800		26,160.00 Member	Buy
16:40:13	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	2	2,000	13.0800		(26,160.00) Client	Sell
16:41:11	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.0885		130,885.00 Member	Buy
16:41:11	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.0885		(130,885.00) Client	Sell
16:46:32	\$ / R 13/03/2017	Foreign Exchange Future	Р	13.00	1	1,000	45	45,000	93.1299		4,190,845.50 Member	Buy
16:46:41	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0925		327,312.50 Member	Buy
16:47:10	\$ / R 13/03/2017	Foreign Exchange Future	Р	13.00	1	1,000	20	20,000	93.1299		(1,862,598.00) Client	Sell
16:47:10	\$ / R 13/03/2017	Foreign Exchange Future	Р	13.00	1	1,000	25	25,000	93.1299		(2,328,247.50) Client	Sell
16:47:23	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.0817		3,270,425.00 Member	Buy
16:48:02	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0405		(326,012.50) Client	Sell
16:48:05	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.0594		6,529,700.00 Client	Buy
16:48:05	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.0594		(6,529,700.00) Member	Sell
16:49:33	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0925		(327,312.50) Member	Sell
16:49:35	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	12.9965		51,986,000.00 Member	Buy
16:49:35	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	12.9965		(51,986,000.00) Client	Sell
16:49:37	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3040		6,652,000.00 Member	Buy
16:50:00	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0925		327,312.50 Member	Buy
16:50:00	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0925		(327,312.50) Client	Sell
16:52:01	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	117	117,000	13.0512		(1,526,990.40) Member	Sell
16:52:52	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.0785		(65,392.50) Client	Sell
16:52:52	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.0785		65,392.50 Member	Buy
16:52:56	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0785		(326,962.50) Client	Sell
16:52:56	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	25	25,000	13.0785		326,962.50 Member	Buy
16:53:14	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.3043		(13,304,300.00) Client	Sell
16:53:15	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.3047		6,652,350.00 Member	Buy
16:58:12	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0154		1,301,540.00 Member	Buy
16:58:21	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0150		(1,301,500.00) Member	Sell
16:58:21	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0150		1,301,500.00 Client	Buy
16:59:07	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	7	7,000	13.0518		91,362.60 Client	Buy
16:59:07	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	7	7,000	13.0518		(91,362.60) Member	Sell
16:59:45	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2943		(132,943.00) Client	Sell
16:59:45	\$ / R 19/06/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.2943		132,943.00 Member	Buy
17:00:53	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	117	117,000	13.0512		1,526,990.40 Member	Buy
17:00:53	\$ / R 28/04/2017	Any day expiry		0.00	1	1,000	117	117,000	13.1639		(1,540,176.30) Member	Sell
17:01:50	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.0154		(390,462.00) Client	Sell
17:01:50	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	70	70,000	13.0154		(911,078.00) Client	Sell
17:02:35	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10,000	10,000,000	13.0995		(130,995,000.00) Member	Sell
17:02:00	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.0782		2,615,640.00 Client	Buy
17:04:04	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.0782		(2,615,640.00) Member	Sell
11.04.04	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10,000	10,000,000	13.0782		130,815,000.00 Member	Buy

/latched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
7:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,480	1,480,000	13.0995	19,387,260.00 Client	Buy
7:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,385	1,385,000	13.0995	18,142,807.50 Client	Buy
7:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3,498	3,498,000	13.0995	45,822,051.00 Client	Buy
7:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,067	1,067,000	13.0995	13,977,166.50 Client	Buy
7:10:08	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,570	2,570,000	13.0995	33,665,715.00 Client	Buy
7:11:16	\$ / R 28/04/2017	Any day expiry	0.00	1	1,000	117	117,000	13.1639	1,540,176.30 Client	Buy
7:12:43	\$ / R 17/03/2017	Any day expiry	0.00	1	1,000	282	282,000	13.0853	3,690,054.60 Member	Buy
7:13:42	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	282	282,000	13.5130	(3,810,666.00) Member	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,304	1,304,000	13.0342	(16,996,596.80) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	85	85,000	13.0342	(1,107,907.00) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,943	2,943,000	13.0342	(38,359,650.60) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	821	821,000	13.0342	(10,701,078.20) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	255	255,000	13.0342	(3,323,721.00) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	612	612,000	13.0342	(7,976,930.40) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	5,594	5,594,000	13.0342	(72,913,314.80) Client	Sell
7:14:48	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	66	66,000	13.0342	(860,257.20) Client	Sell
15:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,385	1,385,000	13.0815	(18,117,877.50) Client	Sell
15:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,480	1,480,000	13.0815	(19,360,620.00) Client	Sell
:15:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2,570	2,570,000	13.0815	(33,619,455.00) Client	Sell
:15:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3,498	3,498,000	13.0815	(45,759,087.00) Client	Sell
:15:05	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,067	1,067,000	13.0815	(13,957,960.50) Client	Sell
':21:19	\$ / R 17/03/2017	Any day expiry	0.00	1	1,000	282	282,000	13.0853	(3,690,054.60) Client	Sell
':21:44	\$ / R 18/09/2017	Foreign Exchange Future	0.00	1	1,000	282	282,000	13.5130	3,810,666.00 Client	Buy
24:53	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	13.0622	2,612,440.00 Client	Buy
':45:39	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.0600	(326,500.00) Client	Sell
8:14:38	\$ / R 28/02/2017	Any day expiry	0.00	1	1,000	486	486,000	13.0455	6,340,113.00 Member	Buy
3:14:38	\$ / R 28/02/2017	Any day expiry	0.00	1	1,000	602	602,000	13.0455	(7,853,391.00) Member	Sell
3:14:38	\$ / R 28/02/2017	Any day expiry	0.00	1	1,000	116	116,000	13.0455	1,513,278.00 Member	Buy
otal Futu	ires			194		85,015	85,015,000		1,111,597,523.30	
otal Opti	ons			2		45	45,000		0.00	
otal for \$	/ R Any day expiry			195		85,060	85,060,000		1,115,788,368.80	
:39:12	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	16.2000	(48,600.00) Client	Sell
:39:12	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	3	3,000	16.2000	48,600.00 Member	Buy
:42:53	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.2151	1,621,510.00 Member	Buy
:42:53	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.2151	(1,621,510.00) Member	Sell
:44:35	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.2220	1,622,200.00 Client	Buy
:44:35	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.2220	(1,622,200.00) Member	Sell
3:52:51	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	16.2470	(32,494.00) Member	Sell
3:53:01	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	2	2,000	16.2470	32,494.00 Client	Buy
:58:03	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	- 1	1,000	16.2100	(16,210.00) Client	Sell
	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.2100	16,210.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:46:20	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	61	61,000	16.2844		993,348.40 Member	Buy
16:46:20	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	61	61,000	16.2844		(993,348.40) Client	Sell
6:48:45	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2812		(4,070,300.00) Member	Sell
6:48:47	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2817		(4,070,425.00) Member	Sell
6:50:45	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	16.2780		(8,139,000.00) Member	Sell
6:52:07	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2788		(4,069,700.00) Member	Sell
6:54:21	£ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	119	119,000	16.2718		(1,936,344.20) Member	Sell
6:55:03	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2719		(4,067,975.00) Member	Sell
6:55:03	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2719		(4,067,975.00) Member	Sell
6:59:01	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	16.2719		(4,067,975.00) Member	Sell
7:11:20	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	450	450,000	16.2891		(7,330,095.00) Member	Sell
7:19:08	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	576	576,000	16.2764		9,375,206.40 Client	Buy
7:19:08	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,543	1,543,000	16.2764		25,114,485.20 Client	Buy
7:44:59	£/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	450	450,000	16.2891		7,330,095.00 Client	Buy
8:14:38	£ / R 28/02/2017	Any day expiry	0.00	1	1,000	48	48,000	16.2243		778,766.40 Member	Buy
8:14:38	£ / R 28/02/2017	Any day expiry	0.00	1	1,000	48	48,000	16.2243		(778,766.40) Member	Sell
otal Futi	ures			13		2,884	2,884,000			46,932,916.70	
otal Opt	ions										
otal for f	ɛ̃ / R Any day expiry			13		2,884	2,884,000			46,932,916.70	
0:13:28	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.1244		1,412,440.00 Member	Buy
):13:28	€/R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.1244		(1,412,440.00) Member	Sell
0:15:31	€/R 13/03/2017	Eoroign Exchange Euture	0.00	1	1,000	100	100,000	13.8200		(1,382,000.00) Member	Sell
. 10.01		Foreign Exchange Future				100	100,000			1,382,000.00 Member	Buy
	€/R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.8200			
):15:31	€ / R 13/03/2017 € / R 13/03/2017		0.00 0.00	1 1				13.8200 13.8253		(3,456,325.00) Member	Sell
):15:31):19:35		Foreign Exchange Future		-	1,000	100	100,000			(3,456,325.00) Member 3,456,325.00 Member	Sell Buy
D:15:31 D:19:35 D:19:35	€/R 13/03/2017	Foreign Exchange Future Foreign Exchange Future	0.00	1	1,000 1,000	100 250	100,000 250,000	13.8253			
):15:31):19:35):19:35):33:59	€ / R 13/03/2017 € / R 13/03/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1	1,000 1,000 1,000	100 250 250	100,000 250,000 250,000	13.8253 13.8253		3,456,325.00 Member	Buy
):15:31):19:35):19:35]:33:59 3:11:34	€ / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00	1 1	1,000 1,000 1,000 1,000	100 250 250 30	100,000 250,000 250,000 30,000	13.8253 13.8253 13.7782		3,456,325.00 Member (413,346.00) Member	Buy Sell
0:15:31 0:19:35 0:19:35 1:33:59 3:11:34 3:11:35	€ / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000 1,000	100 250 250 30 250	100,000 250,000 250,000 30,000 250,000	13.8253 13.8253 13.7782 13.8364		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member	Buy Sell Buy
0:15:31 0:19:35 0:19:35 1:33:59 3:11:34 3:11:35 3:41:30	€ / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017 € / R 13/03/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250	100,000 250,000 250,000 30,000 250,000 250,000	13.8253 13.8253 13.7782 13.8364 13.8364		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member	Buy Sell Buy Sell
0:15:31 0:19:35 0:19:35 0:33:59 0:11:34 0:11:35 0:11:35 0:41:30 0:41:30	€ / R 13/03/2017 € / R 13/03/2017	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12	100,000 250,000 250,000 30,000 250,000 250,000 12,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client	Buy Sell Buy Sell Sell
0:15:31 0:19:35 0:19:35 0:33:59 0:11:34 0:11:35 0:41:30 0:41:30 0:43:16	 € / R 13/03/2017 	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12 12	100,000 250,000 250,000 250,000 250,000 12,000 12,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member	Buy Sell Buy Sell Buy
1:15:31 1:19:35 1:19:35 1:33:59 1:11:34 1:11:35 1:41:30 1:41:30 1:43:16 1:49:35	 € / R 13/03/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 30 250 250 12 12 60 5	$\begin{array}{c} 100,000\\ 250,000\\ 250,000\\ 30,000\\ 250,000\\ 250,000\\ 12,000\\ 12,000\\ 60,000\\ 5,000\end{array}$	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member 70,761.00 Member	Buy Sell Sell Sell Buy Sell
0:15:31 0:19:35 0:19:35 133:59 0:11:34 0:11:35 0:41:30 0:43:16 0:49:35 0:49:35	 € / R 13/03/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 30 250 250 250 12 12 60 5 5	$\begin{array}{c} 100,000\\ 250,000\\ 250,000\\ 30,000\\ 250,000\\ 250,000\\ 12,000\\ 12,000\\ 60,000\\ \end{array}$	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member	Buy Sell Sell Sell Buy Sell Buy
::15:31):19:35):19:35):19:35):33:59 3:11:34 3:11:35 3:41:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:44:30 3:45:35 3:49:35 3:59:09	 € / R 13/03/2017 € / R 19/06/2017 € / R 19/06/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 30 250 250 12 12 60 5	$\begin{array}{c} 100,000\\ 250,000\\ 250,000\\ 30,000\\ 250,000\\ 250,000\\ 12,000\\ 12,000\\ 60,000\\ 5,000\\ 5,000\\ 5,000\end{array}$	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member 70,761.00 Member (70,761.00) Client	Buy Sell Sell Sell Buy Sell Sell Sell
0:15:31 0:19:35 0:19:35 1:33:59 3:11:34 3:11:35 3:41:30 3:41:30 3:44:30 3:44:35 3:49:35 3:49:35 3:59:09 4:12:12	 € / R 13/03/2017 € / R 19/06/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 250 250 12 12 60 5 5 30 100	100,000 250,000 30,000 250,000 250,000 12,000 12,000 60,000 5,000 30,000 100,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450 14.1512		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member 70,761.00 Member (70,761.00) Client (415,350.00) Member 1,415,120.00 Member	Buy Sell Sell Buy Sell Buy Sell Sell Buy
0:15:31 0:19:35 0:19:35 0:13:359 3:31:59 3:11:34 3:11:35 3:41:30 3:41:31 3:49:35 3:59:09 4:12:12 4:12:12	 € / R 13/03/2017 € / R 19/06/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12 12 60 5 5 30 100 100	100,000 250,000 30,000 250,000 250,000 12,000 12,000 60,000 5,000 30,000 100,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450 14.1512 14.1512		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member (831,396.00) Member (70,761.00 Member (415,350.00) Member 1,415,120.00 Member (1,415,120.00) Member	Buy Sell Sell Buy Sell Buy Sell Buy Sell Buy
b:15:31 b:19:35 b:19:35 b:19:35 b:33:59 3:11:34 3:11:35 3:41:30 3:41:30 3:41:30 3:41:30 3:43:16 3:49:35 3:49:35 3:59:09 4:12:12 4:12:12 4:12:48	 € / R 13/03/2017 € / R 19/06/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12 12 60 5 5 30 100 100 100	100,000 250,000 30,000 250,000 250,000 12,000 12,000 60,000 5,000 30,000 100,000 15,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450 14.1512 14.1512 13.8360		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member (70,761.00) Member (70,761.00) Client (415,350.00) Member 1,415,120.00 Member (1,415,120.00) Member (207,540.00) Member	Buy Sell Sell Sell Buy Sell Sell Buy Sell Sell Sell
2:15:31 0:19:35 0:19:35 1:33:59 3:11:34 3:11:35 3:41:30 3:41:30 3:44:30 3:44:30 3:41:30 3:44:30 3:41:30 3:44:30 3:41:30 3:41:30 3:41:30 3:41:30 3:41:30 3:41:30 3:41:30 3:41:20 4:12:12 4:12:12 4:12:12 4:12:48 4:43:22	 € / R 13/03/2017 € / R 19/06/2017 € / R 19/03/2017 € / R 13/03/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12 12 60 5 5 30 100 100 15 15	100,000 250,000 250,000 250,000 250,000 12,000 12,000 60,000 5,000 30,000 100,000 15,000 15,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450 14.1512 14.1512 13.8360 13.8350		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member (70,761.00 Member (70,761.00) Client (415,350.00) Member 1,415,120.00 Member (1,415,120.00 Member (207,540.00) Member (207,525.00) Member	Buy Sell Sell Buy Sell Buy Sell Sell Sell Sell Sell
0:15:31 0:15:31 0:19:35 0:19:35 1:33:59 3:11:34 3:11:35 3:41:30 3:41:30 3:41:30 3:44:30 3:44:30 3:42:35 3:59:09 4:12:12 4:12:12 4:12:12 5:03:36 5:36:44	 € / R 13/03/2017 € / R 19/06/2017 	Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	100 250 250 30 250 250 12 12 60 5 5 30 100 100 100	100,000 250,000 30,000 250,000 250,000 12,000 12,000 60,000 5,000 30,000 100,000 15,000	13.8253 13.8253 13.7782 13.8364 13.8364 13.8500 13.8500 13.8566 14.1522 14.1522 13.8450 14.1512 14.1512 13.8360		3,456,325.00 Member (413,346.00) Member 3,459,100.00 Member (3,459,100.00) Member (166,200.00) Client 166,200.00 Member (831,396.00) Member (70,761.00) Member (70,761.00) Client (415,350.00) Member 1,415,120.00 Member (1,415,120.00) Member (207,540.00) Member	Buy Sell Sell Sell Buy Sell Sell Buy Sell Sell Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:40:24	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	90	90,000	14.1025		(1,269,225.00) Member	Sell
15:40:24	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	90	90,000	14.1025		1,269,225.00 Client	Buy
15:40:24	€ / R 18/12/2017	Foreign Exchange Future	0.00	1	1,000	180	180,000	14.7080		2,647,440.00 Client	Buy
15:55:19	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.1373		1,413,730.00 Member	Buy
15:55:19	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.1373		(1,413,730.00) Member	Sell
16:13:17	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	11,021	11,021,000	14.1326		(155,755,384.60) Member	Sell
6:18:01	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	14.1540		(2,830,800.00) Member	Sell
16:18:01	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	200	200,000	14.1540		2,830,800.00 Member	Buy
6:27:18	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	26	26,000	13.8516		(360,141.60) Member	Sell
16:36:35	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.1620		(70,810.00) Client	Sell
6:36:35	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.1620		70,810.00 Member	Buy
16:48:14	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8790		(3,469,750.00) Member	Sell
16:48:14	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8797		(3,469,925.00) Member	Sell
6:49:42	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	49	49,000	13.8766		(679,953.40) Member	Sell
6:50:06	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8747		(3,468,675.00) Member	Sell
6:50:06	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	201	201,000	13.8747		(2,788,814.70) Member	Sell
6:51:28	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	299	299,000	13.8790		(4,149,821.00) Member	Sell
6:54:05	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8828		(3,470,700.00) Member	Sell
6:54:05	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	63	63,000	13.8830		(874,629.00) Member	Sell
6:54:23	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	201	201,000	13.8443		2,782,704.30 Client	Buy
6:54:23	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	201	201,000	13.8443		(2,782,704.30) Member	Sell
6:54:30	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8725		(3,468,125.00) Member	Sell
6:54:30	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8725		3,468,125.00 Member	Buy
6:54:54	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8725		(3,468,125.00) Member	Sell
6:56:18	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8811		(3,470,275.00) Member	Sell
6:58:35	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8828		(3,470,700.00) Member	Sell
6:59:35	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.8805		(3,470,125.00) Member	Sell
7:13:46	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	5,280	5,280,000	14.1326		74,620,128.00 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	240	240,000	14.1326		3,391,824.00 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	774	774,000	14.1326		10,938,632.40 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	1,230	1,230,000	14.1326		17,383,098.00 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	2,777	2,777,000	14.1326		39,246,230.20 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	80	80,000	14.1326		1,130,608.00 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	577	577,000	14.1326		8,154,510.20 Client	Buy
7:13:47	€ / R 19/06/2017	Foreign Exchange Future	0.00	1	1,000	63	63,000	14.1326		890,353.80 Client	Buy
7:18:36	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	721	721,000	13.8788		10,006,614.80 Client	Buy
7:18:36	€ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	1,891	1,891,000	13.8788		26,244,810.80 Client	Buy
8:14:38	€ / R 28/02/2017	Any day expiry	0.00	1	1,000	35	35,000	13.8349		484,221.50 Member	Buy
8:14:38	€ / R 28/02/2017	Any day expiry	0.00	1	1,000	35	35,000	13.8349		(484,221.50) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ires			31		15,612	15,611,500			219,726,186.05	
Total Opti	ons										
Total for €	/ R Any day expiry			31		15,612	15,611,500			219,726,186.05	
9:17:21	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	150	150,000	9.9885		1,498,275.00 Member	Buy
9:17:21	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	150	150,000	9.9885		(1,498,275.00) Client	Sell
9:47:23	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	150	150,000	10.0011		(1,500,165.00) Member	Sell
9:47:23	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	150	150,000	10.0011		1,500,165.00 Member	Buy
11:14:18	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	5	5,000	9.9870		(49,935.00) Member	Sell
11:14:18	AU\$ / R 13/03/2017	Foreign Exchange Future	0.0	0 1	1,000	5	5,000	9.9870		49,935.00 Client	Buy
15:40:24	AU\$ / R 18/12/2017	Foreign Exchange Future	0.0	0 1	1,000	310	310,000	10.4375		(3,235,625.00) Member	Sell
15:40:24	AU\$ / R 19/06/2017	Foreign Exchange Future	0.0	0 1	1,000	90	90,000	10.1400		(912,600.00) Member	Sell
15:40:24	AU\$ / R 19/06/2017	Foreign Exchange Future	0.0	0 1	1,000	90	90,000	10.1400		912,600.00 Client	Buy
15:40:24	AU\$ / R 18/12/2017	Foreign Exchange Future	0.0	0 1	1,000	310	310,000	10.4375		3,235,625.00 Client	Buy
Total Futures			5		705	705,000			7,196,600.00		
Fotal Opti	ons										
Total for A	AU\$ / R Foreign Excha	nge Future		5		705	705,000			7,196,600.00	
9:50:25	QUANTO £ /\$ 13/03/20) Foreign Exchange Future	0.0	0 1	10,000	1,350	13,500,000	1.2421		16,768,350.00 Member	Buy
9:50:25	QUANTO £ /\$ 13/03/20) Foreign Exchange Future	0.0	0 1	10,000	1,350	13,500,000	1.2421		(16,768,350.00) Client	Sell
12:32:25	QUANTO £ /\$ 13/03/20) Foreign Exchange Future	0.0	0 1	10,000	1	10,000	1.2439		(12,439.00) Member	Sell
12:32:25	QUANTO £ /\$ 13/03/20) Foreign Exchange Future	0.0	0 1	10,000	1	10,000	1.2439		12,439.00 Client	Buy
Total Futures				2		1,351	13,510,000			16,780,789.00	
Total Opti	ons										
Total for C	QUANTO £ /\$ Foreign I	Exchange Future		2		1,351	13,510,000			16,780,789.00	
10:09:48	QUANTO € / \$ 13/03/2	0 Foreign Exchange Future	0.0	0 1	10,000	30	300,000	1.0593		(317,790.00) Member	Sell
10:09:48	QUANTO € / \$ 13/03/2	0 Foreign Exchange Future	0.0	0 1	10,000	30	300,000	1.0593		317,790.00 Member	Buy
16:40:34	QUANTO € / \$ 13/03/2	0 Foreign Exchange Future	0.0	0 1	10,000	30	300,000	1.0599		317,970.00 Member	Buy
16:40:34	QUANTO € / \$ 13/03/2	0 Foreign Exchange Future	0.0	0 1	10,000	30	300,000	1.0599		(317,970.00) Member	Sell
Total Futures			2		60	600,000			635,760.00		
Fotal Opti	ons										
Total for QUANTO € / \$ Foreign Exchange Future			2		60	600,000			635,760.00		
Total Futures			246		105,627	118,325,500			1,402,869,775.05		
Total Options				2		45	45,000			0.00	
Grand Total for all Instruments				248		105,672	118,370,500			1,407,060,620.55	